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1
1
= 67 335 ( X = 6.85)
2
325 ( X=65)
3
32.5( X=633)
4,
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11 59(29.5)  5.63(1.29)
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Df

5
19
2
197
3
196
5
194
2
197
6
193

*P < 005
J15

05

*

(One-way ANOVA)
SS MS F
13087 2617 638
796335 47.05
22351 11175 2797
71870.71  39.95
450.54 15018 3851
164367 38.998
17348 34696  .850
71920.74  40.83
25333 126.67 3.182
7840.88  39.801
58754 97.924 2518
7506.68 38.895
05

61

b1

063

010

916

044*

023*
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(t—test)

t-test

X

12.6908
11.1818

12.2838
12.4615

12,7818
10.2000

12.1040
13.7778

123131
14,0000

6.64
418

6.64
5.62

6.61
4.66

6.33
6.58

6.41
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1.845

1.506

4.222

069

3.285
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006
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0n



16( )

12.3300

12.0471
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6.27
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6.24
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6.42
5.9
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14.6264

12.1304
14.6250

11.8552
13.5818

12.4205
11.6667

15.4615
12.1123

15.4615
12.1123

12.9615
12.2356

11.4265
14.2500

N

5.66
6.46

6.53
3.65

6.95
4.35

6.39
6.35

4.03
6.46

4.03
6.46

6.48
6.37

6.74
5.06
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4.632

6.641

1401

3.766

3.766

001

1.682

64

831

033*

011
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054
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12.3316
12.2500

12.2614
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8.0000
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6.40
5.74

6.55
5.05

6.38
4.04

6.45
2.93

6.42
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6.28
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1.37
6.12

.000
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987
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11,9459

12.3537
12.2642

12.2526
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11.9769
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12.3443
12.3077
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15.4615

D
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4.83

6.92
5.36

6.79
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6.44
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6.31
6.40

5.36
8.66
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1.13

6.85
5.59

6.44
441

6.488

2411

917
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216

1.342

029

074

957

66

012*
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340

421

643

007*

864
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12.2396
14.5000

12.4154
9.0000

11.8988
14.5938

12,4410
8.0000

12.5691
8.5833

*p< 05

0.05

6.48
2.20

6.40
4.47

6.43
5.68

6.42

.00000

6.44
3.60

67

t P
5.788 017
697 405
342 959
8.055 .005*
3.133 078
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1 5
(One - way ANOVA)*

df

2
197
2
197
2
196
2
197
2
197

*P < 05
18

11.23
8022.99
99.501
1994.72
46.380
7978.10

56.68
8037.54

3.654
8090.57

MS

35.615
40.726
49.751
40.582
23.19
40.705
28.341
40.800
1.827
41.069

875

1.226

970

695

044

05

68

419

296

967

500

956



DEP

STR

STRL

STR2

STR3

STR4

STRS

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

Pearson
Correlation
Sig. (2-tailed)
N

DEP  SIR
- 087
220
200 200

20
200 200
000 469(0
97 000
200 200

084 7100
200 000
200 200

063 .495(0
375 000
200 200

054 558

444000
200 200
-026 ,562(*
J11 000
200 200

STRL

000

997
200

STR2
- 084

240
200

- 087 114 7100

000 .00
200 200
1 +364(%)
000
200 200
364() 1
000
200 200
046 027
51707
200 200
007 249(0
919 000
200 200
061 +220()
388 002
200 200

* Correlation is significant at the 0.01 level (2-tailed).

* Correlation is significant at the 0.05 level (2-tailed).

STR3  STRY
063 -054
35 A
200 200
495(0 .558(0
000 000
200 200
046 -007
51919
200 200
027 249(0
707 .00
200 200
1 1590
025
200 200
1590 1
025
200 200
124 306(0
079 .00
200 200

69

STR5

- 026

J11
200

562(0

000
200

061

388
200

220(0

002
200

124

079
200

306(0

000
200

200
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05

(STR) (DEP)
(=-087) (STR?) (DEP) (r=-084)
(STR3) (DEP) ( =-0.63)
(STR4) (DEP)( =-0.54) (STR5)
(DEP) (r=-026) (STR3)
(STRL) (r=-.046) (STR4)

(STRY) ( =-007)

0L
(r= 469 1,710 1.495 1.558 , 562 )
0L (r=.364)
0L ( =.249)

0
= .220)

05 (1= 159)
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